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f§l : He can play tennis. (5 7€ )
( ) he play tennis? (%E[30)
He ( ) play tennis. (57 30)
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ex) Must I go shopping now?
Yes, you ( )./ No, you ( )( )( ).
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f§l : He can play tennis. (5 7€ )
( Can ) he play tennis? (%E[30)
He ( can’t ) play tennis. ({57 30)

Bl dhaa] o fiH ER

DOwill ~32520%H 077, ~725 9,

@can  (G&ZEE could) ~T& 5, ~LThH X\,

(dmay ~LTH Xy, ~2% L7z,

@®must ~L7ZRTNIER DR\,

(®should ~FTRET7,
IBERA
(Dcan = be ( able Jto~ [ ~T% 5%, 1
@will =be ( going Jto~ [ ~32520H07, S~ i
@must= ( have Yto~ [ ~LZ&RIFNIER S R \W, ]

=( has ) to ~(=Hi)
=(  had ) to ~(E )
3 A
(OMay [~? = Can [~? I ~LThlwcdr? i
@Shall I~? s (B ~LEL 292 ? J
3 Shall we~? = ( Let's~ ) : [ (—#IO)~LELxron? |
@Will you~? = ( Please~ )y T ~L T NETEAD? ]
B®mustn’t~ = ( Don’t~ )~ [ ~LTlTWiFz |
{@don’t have to~ . ~T LR, |

(Mwould like to~ 0 ~ L7z, |
4 R

ex) Must I go shopping now?
Yes, you ( must )./ No,you ( don’t ) have YO to ).

< FGREPUBELT
Y BEFnsitiEn

blog



